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Directions

In examples 1 and 2, four figures have been given in each question. Of these four figures three figures are similar in some
way and one figure is different. Find the number below the figure, which is different.

Example -1

1 2 [©) 4
Here figure 1,2 and 4 are made of straight lines, but figure 3 is not. Therefore, 3 is the correct answer.
1 @ 3 4

In figures, 1,3 and 4 the inner figures are different in shape from the outer figures, while in figure 2, the inner figure and the
outer figure are of the same shape. Therefore 2 is the correct answer.

Example — 2

TYPE - 1II
Directions

In examples 3 and 4, one of the four answer figures, marked 1,2,3,4 on the right side of the vertical line, is the same as the
problem figure given on the left side. Find the number below the figure, which is different.
Problem Figure Answer Figure

= B

1 2 @ 4

Answer figure 3 resembles the problem figure and therefore,3 is the correct answer.
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Answer figure 3 resembles the problem figure and therefore 3 is the correct answer.

TYPE - 111
Directions

In examples 5 and 6, there is a problem figure on the left hand side of the line. A part of it is missing. Observe the answer
figures 1,2,3,4 on the right hand side. Find the answer figure that, without changing its direction, fits in the missing part of
problem figure so as to properly complete the pattern in the problem figure. Find the number below the figure, which is

different. .
Problem Figure Answer Figure

Example - 5

/]

1 2 3 @

Here, answer figure 4 completes the pattern in the blank space in the problem figure, and it is the correct answer.

Example -6
Problem Figure Answer Figure

T

@ 3 2 4

Here, answer figure 1 completes the pattern in the blank space in the problem figure, and it is the correct answer.

TYPE - 1V
Directions

In examples 7 and 8, there are three problem figure on the left side of the line and the space for the fourth one has been left
blank. The problem figures are in a series. Find which one from among the answer figures completes the series.

Problem Figure Answer Figure

Example -7

=

+ | |x

In the example signs + and # are moving at different rates along two sides of a square from one square to another. Following
this rule, the answer figure 3 is the correct answer.

Problem Figure Answer Figure

T Ol RO

In this example the figure < is moving anti  clock wisc. Following this rule, the answer figures 3 are the correct answer.
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Directions

In examples 9 and 10, there are three problem figures followed by a question mark for the fourth one. There exists a
relationship between the first two problem figures. A similar relationship should exist between the third & fourth problem
figure. Select one from the answer figures that can replace the question mark.

blem Figure i
Pro 8! ___ Answer Figure

= [Olviof?] BIOAID

1

The first figures a five sided which is followed by a three sided figure. Thus the different between the number of sides
between first and second figure is two. The third figure is six-sided figure and as per the relationship between the first figure
and second figure, the fourth must have four sides. In the above example that happens to be figure 4 amongst the answer
figures. Therefore, answer figure 4 is the correct answer.

Problem Figure Answer Figure
<Al (R Em RSy
ween [ 2] [BEIFERS
2 3 4

O]

There is a relationship between the first and second Problem figure. Study the relationship. It will be seen that the same
relationship can be established between third problem figure and the answer figure; therefore 1, is the correct answer.

TYPE - VI
Directions

In examples 11 and 12, one part of square is on the left side of the line and the other one is among the four figures 1,2,3,4 on
the right side. Find the figure on the right hand side that completes the square.

Example - 11 Problem Figure Answer Figure

T ¢9CE

Here answer figure 4 fits rightly with the problem figure to complete the square. As such, serial number 4 is the correct
answer.

Example — 12 Problem Figure Answer Figure
1 2 ® 4

Here answer figure 3 fits rightly with the problem figure to complete the square. As such, serial number 3 is the correct
answer.
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The main purpose of this test is to measure candidate’s basic competencies in  Arithmetic.
All the Twenty-five questions of this test will be based on the following 15 topics

1. Number and numeric system.
2: Four fundamental operations on whole number.
3. Fractional number and four fundamental operations on them.
4. Factors and Multiple including their properties.
5% LCM and HCF of numbers.
6. Decimals and fundamental operations on them.
7. Conversion of fractions to decimals and vice-versa.
8. Applications of number in measure length, mass, capacity, time, money etc.
9, Distance, time and speed.
10. Approximation of expressions.
1 Simplification of Numerical Expressions.
12. Percentage and its applications.
13. Profit and loss.
14. Simple interest.
15, Perimeter, area and volume.
Note:- Emphasis will be more on testing of understanding and Application of the concepts and skills Involved. In order to

provide some guidance to the candidates on the types of questions that are expected in Arithmetic test, some
examples are given below:-

Example — 1 (Test of Understanding):

What is the prime factorization of 1000?

1. 10x10x 10

2 2x5x5x10

3. 2X2X2%5x5
4. 2x O 2R SKEAS

A factorization of a number is said to be a prime factorization if (i) the product of the factors (taking a factor as
many times as it occurs) is equal to the given number, and (ii) each factor is a prime number. Here only serial
number 4 satisfies both the requirements. As such, serial number 4 is the correct answer.

Example 2 (Test of Understanding):

What is the average of first four odd numbers?

25
4
)
1

Bw -

6

The first four odd numbers are 1,3,5 and 7. Their average (1+3+5+7)/4. As such serial number 2 is the correct answer.

Example 3 (Test of Application):

A 1 km. long goods train is running at speed of 1 km. per 3 minutes, the time taken by this train to pass through 2 kms. long

tunnel is:
i 1 minute
2. 3 minute
3. 6 minute
4. 9 minute

The tunnel is 2 km. long and the train is 1 km. in length, the train will have to cover a total distance of 3 km. in order to pass
through the tunnel running at a speed of 1 km. per 3 minutes, the train will take 9 minutes to pass through this tunnel and that
is the correct answer. As such, serial number 4 is the correct answer.
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The main purpose of this test is to assess reading comprehension of the candidates. The test consists of three passages. Each
passage is followed by 5 questions. Candidates shall read each passage carefully and answer the questions that follow. In
addition, there will be 10 questions to test grammar and writing skills of candidates.

Given below is a specimen passage and the questions that follow the passage.

PASSAGE
Some years ago, the children of Japan wrote to Jawahar Lal Nehru and requested him to send them an elephant. He sent
them a beautiful elephant on behalf of the children of India. This elephant came from Mysore. It was sent to Japan by sea.
When it reached Tokyo, thousands of children came to see it. Many of them had never, seen an elephant. This majestic
animal thus became a symbol of India to them and also a link between them and the children of India. Nehru was very happy
that this gift of ours gave such a lot of joy to so many children of Japan and made them think of our country.

i 8 “He sent them a beautiful elephant” ‘them’ in this sentence, stand for

The children of Mysore

L
2 The children of Japan
3: The people of Tokyo
4. The Japanese Zoo
2 The elephant travelled from India to Japan.
1 By ship
2 By train
3. By plane
4. By road
3. Thousands of Japanese children came to Tokyo to see the elephant, because.
L It was sent from India
2. It was tame elephant
3. It was a majestic animal
4. They had never seen an elephant before
4. Nehru was happy because
L. He sent an elephant to Japan
2 His gift made children of Japan think of our country
3 The elephant made a long journey by sea
4. The elephant was happy in Japan
5 Nehru sent an elephant to Japan because
| & He liked elephant
2: Elephants are majestic animals
3. The children of Japan has asked for one
4. The Government of Japan had asked for an elephant.
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